

$$T_i^i = \begin{cases} 0 & i \neq j \\ 2 & i = j \end{cases}$$

$$T_i^i = \begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix} \sim 1.$$

$$\begin{pmatrix} 1 & 5 \\ 1 & 3 \end{pmatrix} \rightarrow e^1 = \frac{1}{-2} \begin{pmatrix} 3 & -1 \\ -5 & 1 \end{pmatrix}$$

cd/D.F.1
rubble - 2-1
cd 0.1

$$T_{51}^0 = \begin{pmatrix} -\frac{3}{2} & \frac{5}{2} \\ \frac{1}{2} & -\frac{1}{2} \end{pmatrix} \begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix} \begin{pmatrix} 1 & 5 \\ 1 & 3 \end{pmatrix} =$$

$$= \begin{pmatrix} -3 & 5 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} 1 & 5 \\ 1 & 3 \end{pmatrix} = \begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix}$$

$\forall T \in \Pi_1$, T - one page.

$$\begin{pmatrix} -\frac{3}{2} & \frac{5}{2} \\ \frac{1}{2} & -\frac{1}{2} \end{pmatrix} = C^T$$

$$T_2' = 3 \quad T_1' = T_1^2 = T_2^2 = 0$$

$\sim 2.$

$$T_1^2$$

$$C = \begin{pmatrix} 1 & 1 \\ 5 & 4 \end{pmatrix}$$

$$T_1^2 = a_i^2 d_i^i T_i^i = a_1^2 d_1^1 3 = 2 \cdot 5 \cdot 3 = 75$$

$$C' = d^T = (-1) \begin{pmatrix} 4 & -5 \\ -1 & 1 \end{pmatrix}^T = \begin{pmatrix} -4 & 1 \\ 5 & -1 \end{pmatrix}$$

$$T_{51}^0 = \begin{pmatrix} -4 & 1 \\ 5 & -1 \end{pmatrix} \begin{pmatrix} 0 & 3 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} -4 & 1 \\ 5 & -1 \end{pmatrix} = \begin{pmatrix} 0 & -12 \\ 0 & 15 \end{pmatrix} \begin{pmatrix} -4 & 1 \\ 5 & -1 \end{pmatrix} =$$

$$= \begin{pmatrix} * & * \\ 15 \cdot 5 & * \end{pmatrix}$$

$$\boxed{75}$$

$\sim 3.$

$$\tilde{T}_{11}^{22}$$

$$T = e^1 \otimes e^1 \otimes e_2 \otimes e_2 + 2e^2 \otimes e^2 \otimes e_1 \otimes e_1$$

$$T_{11}^{22} = 1 \quad a = \begin{pmatrix} 3 & 0 \\ 0 & 1 \end{pmatrix}$$

$$T_{22}^{22} = 2 \quad d = \begin{pmatrix} \frac{1}{3} & 0 \\ 0 & 1 \end{pmatrix}$$

$$\tilde{T}_{11}^{22} = a_i^2 a_j^2 d_i^i d_j^j T_{ij}^{22} = a_1^2 a_2^2 d_1^1 d_2^2 T_{12}^{22} +$$

$$+ a_1^2 a_1^2 d_1^1 d_1^1 T_{11}^{22} = 1 \cdot 1 \cdot \frac{1}{3} \cdot \frac{1}{3} \cdot 1 + 0 = \frac{1}{9}$$

$\sim 4.$

$$T_{123} = 2 \quad T_{213} = T_{132} = T_{321} = -2$$

$$a = \begin{pmatrix} 0 & 0 & 1 \\ 1 & 0 & 1 \\ 0 & -1 & 0 \end{pmatrix}$$

$$T_{312} = T_{231} \quad T_{112} = \dots = 0$$

$$d = (-1) \begin{pmatrix} 1 & 0 & -1 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{pmatrix}^T = \begin{pmatrix} -1 & 1 & 0 \\ 0 & 0 & -1 \\ 1 & 0 & 0 \end{pmatrix}$$

$$\tilde{T}_{123} = d_1^i d_2^j d_3^k T_{ijk} = d_1^1 d_2^2 d_3^3 T_{123} + d_1^2 d_2^3 d_3^1 T_{231} \oplus$$

$$\oplus 1 \cdot (-1) \cdot 1 \cdot 2 = -2$$

$$T = \text{Alt}(u \otimes v)$$

~5.

$$u = 2e_1 + e_2, v = 2e_1$$

$$u \otimes v = 4e_1 \otimes e_1 + 2e_2 \otimes e_1$$

$$(u \otimes v)'' = 4 \quad (u \otimes v)^{21} = 2 \quad \text{over } \mathbb{R}$$

$$T = \frac{1}{2} \sum_{\sigma} (-1)^{\sigma} \alpha(u \otimes v) = \frac{1}{2} (1 \cdot (4e_1 \otimes e_1 + 2e_2 \otimes e_1) - 1 \cdot (4e_1 \otimes e_1 + 0)) = \underline{e_2 \otimes e_1}$$

~6.

$$T = \text{Sym}(\xi \otimes \eta) \quad \xi = -e^1, \eta = e^2 - e^1$$

$$\xi \otimes \eta = -e^1 \otimes e^2 + e^1 \otimes e^1$$

$$T = \frac{1}{2} \sum_{\sigma} (\xi \otimes \eta) = \frac{1}{2} ((-e^1 \otimes e^2 + e^1 \otimes e^1) + (e^1 \otimes e^1)) = e^1 \otimes e^1$$

~7.

$$\xi = e^1 + e^2, \eta = e^1 - e^2$$

$$(\xi \otimes \eta)(5e_1, 4e_2) = (e^1 \otimes e^1 - e^1 \otimes e^2 + e^2 \otimes e^1 - e^2 \otimes e^2)(5e_1, 4e_2) = \underline{-20}$$

~8.

$$T = 2e_1 \otimes e^2 - 3e_2 \otimes e^2 + e_3 \otimes e^2 - e_4 \otimes e^3$$

$$C'(\tau) = -4$$

~9.

$$T = e_3 \otimes e_2 \otimes e_1 + e_1 \otimes e_1 \otimes e_2$$

$$\sigma = \begin{pmatrix} 1 & 2 & 3 \\ 2 & 1 & 3 \end{pmatrix}$$

$$T = \cancel{e_3 \otimes e_2 \otimes e_1 + e_1 \otimes e_1 \otimes e_2}$$

$$= e_2 \otimes e_3 \otimes e_1 + e_1 \otimes e_1 \otimes e_2$$

~10.

$$T = 2e^1 \otimes e^1 + 3e^2 \otimes e^1$$

$$g^{\tilde{v}} = \begin{pmatrix} 1 & 0 \\ 0 & 2 \end{pmatrix}$$

$$T_{12} = 2 \quad T_{21} = 3$$

$$T_i^i = g^{ik} T_{ki} \quad T_2^2 = g^{11} T_{12} = 1 \cdot 2 = 2$$

$$T_1^2 = g^{22} T_{21} = 2 \cdot 3 = 6$$

~11.

$$\underline{dx + 2dy}, \quad \underline{x^2 dy + 1 dz + dz \wedge dx}$$

$$u \wedge v = \frac{(p+q)!}{p!q!} \text{Alt}(u \otimes v)$$

$$u \wedge v = dx \otimes (x^2 dy \wedge dz)$$

N 12.

$$\omega = x^2 dx + xy^3 dy$$

$$d\omega = y^3 dx + dy$$

N 13.

$$\omega = 3\lambda dy dz + y dx dz$$

$$d\omega = 3\lambda dx dy dz - 1 \cdot dx dy dz = 0$$

$$3\lambda = 1 \quad \lambda = \frac{1}{3}$$

N 17.

$$X = (y, 0) \quad Y = (x^2 + y, x - y)$$

$$[X, Y]^i = X^j \frac{\partial Y^i}{\partial x^j} - Y^j \frac{\partial X^i}{\partial x^j}$$

$$[X, Y]^1 = \cancel{X^1 \frac{\partial Y^1}{\partial x^1}} - Y^1 \frac{\partial X^1}{\partial x^1} - Y^2 \frac{\partial X^1}{\partial y} = y \cdot 2x - (x - y) \cdot 1 = 2xy + (y - x)$$

$$[X, Y]^2 = X^1 \frac{\partial Y^2}{\partial x^1} - 0 = y \cdot 1 = y$$

N 18.

$$X = (0, 0, 1) \quad Y = (x - 3y, -y^3, z)$$

$$[X, Y]^1 = X^3 \frac{\partial Y^1}{\partial z} = 0 \quad [X, Y]^2 = 0 \quad [X, Y]^3 = 1$$

$$f = yx^2 + y^2 \quad \nabla_x f = 2xy$$

$$\nabla_y f = x^2 + 2y$$

N 20.

$$v = (x^2, y) \quad dS^2 = 2dx^2 + 3dy^2$$

$$\nabla_x v^1 = 2x$$

$$\nabla_y v^1 = 0$$

$$\nabla_x v^2 = 0$$

$$\nabla_y v^2 = 1$$

$$\Gamma_{54}^i = \frac{\partial x^i}{\partial x^4} \cdot \frac{\partial^2 x^4}{\partial x^i \partial x^4}$$

$$\begin{cases} u=y \\ v=xy \end{cases}$$

$$x = \frac{v}{u} \quad x_u' = \left(\frac{v}{u} \right)' = 2 \frac{v}{u^3}$$

$$\Gamma_{11}^2 = \frac{\partial v}{\partial x} \cdot \frac{\partial^2 x}{\partial u \partial u} + \frac{\partial v}{\partial y} \frac{\partial^2 y}{\partial u \partial u} = y \cdot 2 \frac{v}{u^3} + x \cdot 0 = 2 \frac{v}{u^3}$$

$$\Gamma_{22}^1 = \frac{1}{2} \cdot g'' \left(\frac{\partial g_{21}}{\partial x^1} + \frac{\partial g_{12}}{\partial x^1} - \frac{\partial g_{12}}{\partial x} \right) = \quad C = \begin{pmatrix} x^2 & 0 \\ 0 & x^2 \end{pmatrix}$$

$$= \frac{1}{2} \cdot \frac{1}{x^2} (-2x) = -\frac{1}{x}$$

N 23,

$$\Gamma_{11}^1 = y \quad \Gamma_{11}^2 = \Gamma_{22}^2 = 1 \quad \text{over } 0 \quad y=3 \quad r \begin{cases} x=2 \\ y=3 \end{cases}$$

$$\frac{dT^i}{dt} + \Gamma_{\alpha\beta}^i T^\alpha \dot{x}^\beta = 0$$

$$\begin{cases} \frac{dT^1}{dt} + \Gamma_{11}^1 T^1 \dot{x}^1 = 0 \\ \frac{dT^2}{dt} + \Gamma_{11}^2 T^1 \dot{x}^1 + \Gamma_{22}^2 T^2 \dot{y} = 0 \end{cases}$$

$$\frac{dT^1}{dt} + y T^1 = 0$$

$$\frac{dT^1}{T^1} = -y dt \quad T^1 = C_1 e^{-yt}$$

$$\frac{dT^2}{dt} + T^1 = 0$$

$$dT^2 = -C_1 e^{-yt} dt$$

$$T^2 = C_1 \frac{1}{y} e^{-yt} + C_2$$

N 24,

$$\Gamma_{11}^2 = 2 \quad \Gamma_{12}^1 = \Gamma_{21}^1 = y$$

$$\ddot{u}^i + \Gamma_{\alpha\beta}^i \dot{u}^\alpha \dot{u}^\beta = 0$$

$$\begin{cases} \ddot{x} + \Gamma_{12}^1 \dot{x} \dot{y} + \Gamma_{21}^1 \dot{y} \dot{x} = 0 \\ \ddot{y} + \Gamma_{11}^2 \dot{x} \dot{x} = 0 \end{cases}$$

$$\begin{cases} \ddot{x} + 2 \dot{x} \dot{y} = 0 \\ \ddot{y} + 2 \dot{x}^2 = 0 \end{cases}$$

$$\dot{x} = p \quad \dot{y} = q$$

$$q = -\frac{\dot{p}}{2p}$$

$$\begin{cases} \dot{p} + 2pq = 0 \\ \dot{q} + 2p^2 = 0 \end{cases}$$

$$\dot{q} =$$